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I. Define the following terms concisely  30% (6% each)

—

- dhsplacement
. allomorphs
_lingua franca
- phonotatics

[ N =

. cognales
[l Short Answers  30% (6% each)

i Mame four Romance Languages
7. Paraphrase the following sentence in two different ways.
The chicken is toe fiot to e,
& What is an embedded sentence?
O What is the flap rule in English?  Give two pairs of examples.
i1 What are the six classes of English consonants classified according to manner of
articulatory action?

11, Linguistic Analysis.  40%

Il Exarnine and analyze the data below, and answer the questions that follow.

1. [tinta] “dye’ 7. [tygo] ‘1 dye’

2. [tinda| “tent’ 8. [tineo] ‘T keep’

3 [dansa] “dance’ 9 [fupzo] “mushroom’
4 [nero] ‘black’ 10. [byajka) “white’

5. [jente] “people’ i1 [agke] “also’

& [sapone]  'soap’ 12 [fango] "o’

LA, Ase there any mimimal pairs? 1f so, what are they? 3%
1B State the specific phonetic environments 1 which the sounds [n] and [J] occur,

5%

|LC Are [n] and [9] allophenes of separate phonemes or allophones of the same

phoneme? 3%
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12 Analyze the Woun Phrase below, and answer the questions that follow

the boy on the podiune by the entrance of the library

|2A One of the linguistic properties 15 reflected 1o thas noun phrase. What 15 187 5%

| 2B, Prowvide the PS nules for this noun phrase. 3%

|3 Examine and analyze the data below, and answer the questions that follow

P

LEF )

L4

15,

| {5

LMoo

. mteto

mitoto
watatn
wALGLD
waloto
mitu

miu

. mtu

Cwatu

Wwatl

Cwalue

kikapu
kikapu
vikapu

ViU

anafika
amefika
atafika
wanafika
wamelka
watafika
analala
amelala
atalala
wanalala
wamelala
walalala
kinaanguka
kimeanguka
vitaanguka

vimeanguka

“The child 15 arrving,’
“The child has arrived
"The child will arrive.’
“The children are arriving
"The chuldren have arnved.’
‘The children will arrive.”
“The man is sleeping .’
*The man has slept

“The man will sleep.”

‘The men are sleeping.’
"The men have slept '
"The men will sleep

"The basket is falling *
“The basker has fallen
*The baskets wll fall.’
‘The knives have fallen ’

134 What kinds of morphemes are strung together and i what order 1o construct the
verb? 6%

11B How would one say the following expression in this language? 3%

Tl knife is arriving.

13C . How would one say the [ollowimg expression m this language® 3%

The children huve .'i.lr{'!.i'.l'f.

1313 How would one say the following expression in this language? 3%

Thee mreree will nrrive,




